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IMMOABAJI
003  Clysen 4,95 14,9 75 BE3
004  JlymeBas 2,52 7,6 75 BE3
005 Tapmepol MykKCKOit 5,74 17,2 7,3 6.4 125 110 112 B2
006 Tapmepo0 >keHCKHiA 8,82 26,5 5,3 4,5 140 120 112 B2
007 KomHara npuemMa nuiiu 10,4 28,1 6 600 1000 100 500 2200 2500 Comr- K3 5,3 5,3 150 150 112 B2
CUCTCMa
008 Ilomemenue anmMuHucT- 9,61 25,9 2 200 260 100 460 1020 2500 Cnmr- K4 5,4 5,4 140 140 12 B2
CHUCTEMa
pauuu
009 Kabuner nupekropa 8,7 23,5 1 100 260 100 430 890 2500 Cmr- K5 5,5 5,5 130 130 112 B2
CUCTCMa
1-A DTAK
101  ToproBeiit 3an 358,9 1076,7 90 9000 11500 4000 4840 29340 31800 CCEJCTGT K1- 3,5 2,7 3790 2880 III BI
MBI K2
(2mT)
103 ITom. mpennp. moar. 10,9 43,6 3,0 3,0 130 130 112 B2
racTp.
105  Kopumop 22,0 100,0 10,8 16,8 1080 1680 112 B3 ITo pacuety
Ha yJaJcHHe
TETUIOU3-
OBITKOB
109 Moeunas obopoTHOH Ta- 2,6 7,8 75 BE2
pHI
110 Moeunas coOctB. 000- 2,57 7,7 75 BE2
POTH. Tapbl
111 Kopugop 10,84 48,8 5,1 5,1 250 250 112 B2
112 Ilomemenue yoopouHoro 5,59 224 80 BE1
WHBCHTApPS

113 DnexromuroBas 5,48 16,4 80 BE1
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114 Kabuner 7,75 31,0 4,8 4,8 150 150 112 B2
115 Kabuner 7,75 31,0 4,8 4,8 150 150 112 B2

HUTOI'O: 6235 6350



